EARAROBEEIERT — 2 N— IBISH —F

20155128198 (+) 9mEKIR4H

Il — R C 258 S R— (X 8 | (3£l — |4 (B 13000 R
X
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . o3 | AME 1:25.0 6-6-4-3 [39.9| — 1 498 | HIEER] (KiR)
118lg|=v buvL1a £54.0 =) (-3) |HEBX
L:TA=—T4FAF=—H> Bz bhu¥5 EET el
G 3 | B 1:25.3 1-1-1-1 | 41.4| — 2 493 | EWE— (KiR)
2 2|70 /T 2T L—L 56.0 2 (ca) | HTEBETE
R bhk—L B:hx b Td—L [[5=2pae)
-\ — s= # 3 | BERRE :25.3 3-3-2-2 |41.0| — 5 461 | BERAE (KR)
3 4| TITNFTZT 54.0 (NF) () |FEHEX
R:Td—T4FAF—-XY%> BT VT H— INTr—L
. NS B3l : 54— - FEF= (ERE)
slglg| KU—bnF>o> 43 e 1.(266).2 5-5-4-4 | 41.1 4 (4_232) mﬁag—
RHISTLIFL b B ITTr=—% 1l]::Ehec]
. s Ra SRR 126. —4-3- . - 12 AR (KGR)
5111 FUY==ZNA L (172272) 3-4-3-4 | 41.6 3 ig? e 7
AR v T4 =0 B:—73-3) FRE%S
= N KIFIE :126. —8-7- . — TEERZE (BRE
6 NEEVEEPY & it 3 s 1(72?‘:)3 8-8-7-7 | 40.6 8 (3_813) P
2147 hAL N BN/ H— BRE Thit
N PR SSARRKE : 04— — BRFEAE (B%ME)
2 3| Vv —TEEA N i 3 R 1.(236).8 2-2-4-6 | 42.3 7 (3:11) jzkmit
L:Oo-xI>J0> B:ILHLPI-LFR e Thit
—sy . s o4 | BEEE 1:27.5 7-7-8-8 | 41.7| — 6 493 | BEILEE] (BEFRE)
8|77 T hA Y- 56.0 (4) (+4) ;éﬁ?ﬁﬂ?&
LZ R Y E—T BTFURTIY i tie]
O T - i3 | WABEE - - - | - — | 00 |1ZmEiEE ()
x5/ 5 kyZ70Ov7 56.0 (Re51) (o) |REE
L:xA14vagR—-5— B:7U—-vl WE 2
® I—F—@EBIERL
|S=7r= 2,3,(1,4),8,9,7,6
Ao=5"= 2,3,4,1,8,9,7,6
T =35r= 2,4,1,(3,8,9),6,7
41—F— 2,4,9,(1,8),3,6,7
[ RN
B 9 140/ 794K 2-9 160 & 2-8 200/ &R 2-4-9 630F
# B 9 1004 4-9 260 B E 2-9 2108 EE 9-2-4 1,190
2 1004 2-4 320M B H 9-2 370
4 250

ABICOVWTRDTEEERROODE. TR LIV,




